
!series RS H/1 I cnts-;{. 
Code No. 

30/1/1 
~-;f. 

Roll No. I I I I I I I I I 
lftt~m cnts c8 ~-~©Cfll ~ ~­

~"q"{~fuml 
Candidates must write the Code on 
the title page of the answer-book . 

• ~~Cfi\~fcfi~w.r-~-q~~ 16~1 
• w-1-~ ~ ~ m~ c€t ~ ~ ~ m ~ cn1- ffi;l ~ -~f?ctctll ~ ~ -~'lR ~ 1 

• ~~Cfi\~fcfi~w.r-~-q 34 w-1~1 
e ~~qrr~ f"H<SI::tl ~~~~' >l"v.:rCfil sti'iicti ~~I 
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• Please check that this question paper contains 16 printed pages. 
• Code number given on the right hand side of the question paper should be written on the 

title page ofthe answer-book by the candidate. 

• Please check that this question paper contains 34 questions. 

• Please write down the serial number of the question before attempting it. 
• 15 minutes time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the question 
paper only and will not write any answer on the answer-script during this period. 

fi Cfi Wt H 'tffi&rr-II 

SUMMATIVE ASSESSMENT-II 
~I WI H 

MATHEMATICS 
f.mfftr w:TGr : 3 ~ J 
Time allowed : 3 hours] 

[ Jif'~ :den: 90 

[Maximum marks : 90 

(i) "frJft m 3"/Rcm[ ~ 1 

(iiJ ~m-ra# 34 m~w:rm:&Uit 31, Gf, (13/rrc:#frf~~~ 
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(iii) (9T1g 31q ~-~ 3fq; crrff 8 ~ g, ~ ~-{Ctcfl(Ft/) >TH g I~;; ;: 6 

~ g fJr.:r# 'H ~ efT 3fq; q:;r ~I (9T1g fr q 1 0 ~ rfR-rfR Jicf ;. ~ 

~ q- q 10 >TH g #R17 'H ~ 'i1rr 3fq; q:;r ~I 

(iv) ~C"'~H2< CfiT lJll7rr ~~I 

General Instructions : 

(i) All questions are compulsory. 

(it) The question paper consists of 34 questions divided into four sectior..: .'1. 

B, CandD. 

(iii) Section A contains 8 questions of one mark each, which are mulr.p?e 
·choice type questions, Section B contains 6 questions of two marks e.::c.i-: 
Section C contains 10 questions of three marks each, and Sectzt:;r. :; 
contains 10 questions of four marks each. 

(iv) Use of calculators is not permitted. 

~.3{ 

SECTION A 

~ ti&JT 1 'H 8 ?rcfi ~ ~ ~ 3fq; q:;r ~I ~ ~ cfl ~ -:qn: {Cict>01 ~ 1Ttf ~, 

#R17 'H ~ ~ trift ~I trift ffli$)0/ ~I 

Question Numbers 1 to 8 carry one mark each. In each of these questions, four 

alternative choices have been provided of which only one is correct. Select the 

correct choice . 

. ~11-pl-2p ....,....-+' ~. f. -w:mR ~VII -,-,--, ..... q)T ~11q3f<'R Q • 

(A) P 

(B) -p 

(C) -1 

(D) 1 

p p p 

30/111 2 
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-----------------

. 1 1-p 1-2p . . . 
The common d1fference of the AP - ,-,--, ..... IS. 

(A) p 

(B) -p 

(C) -1 

(D) 1 

p p p 

2. • 1 -ij, ~ Gff&J ~ P "B ~ C cnB ~ 1R ~~<IT ml Thmt P A om PB 

~~~~c€T~ 4 W:fttomPA..LPBt, m~mfooc€T~t: 

30/1/1 

(A) 3 W:ft 

(C) 5 W:ft 

p 

(B) 4 W:ft 

(D) 6 W:ft 

In Fig. 1, P A and PB are two tangents drawn from an external point P to a 

circle with centre C and radius 4 em. If PA ..L PB, then the length of each 

tangent is: 

(A) 3 em 

(C) 5 em 

p 

Fig. 1 

(B) 4 em 

(D) 6 em 

3 [P.T.O. 

--

evid
ya

rth
i.in

Educational Material Downloaded from http://www.evidyarthi.in/ 
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



3. • 2 "ij, ~ ~~ ABCD ~ ~ ~ 0 CfR1T ~~-&ten 11m~~ 
~m BC, AB, AD om CD c8 ~m P, Q, Rom S "lR ~: ~ CRffi ~I 
~ AB=29 W:fi, AD=23 -wfi, L B=90° om DS~5 -wfi t, m ¥ c6t ~ 
(-wfi "ij) ~ : 

30/111 

(A) 11 

(C) 6 

~2 

(B) 18 

(D) 15 

In Fig. 2, a circle with centre 0 is inscribed in a quadrilateral ABCD such 

that, it touches the sides BC, AB, AD and CD at points P, Q, R and S 

respectively. If AB=29 ern, AD=23 ern, L B=90° and DS = 5 ern, then the 

radius of the circle (in em.) is: 

(A) 11 

(C) 6 

Fig. 2 

(B) 18 

(D) 15 

4 
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4. 7 slft ~ ~ lff.m: ~fum -B ~ ~R ~ ~ qiR CfiT 3iq'ict'i • 30° ~ 1lff.m: 

~ 31T'URifqiR~~ (lft. ~) ~ : 

(A) 25J3 

(B) soJ3 

(C) 75J3 

(D) 150 

The angle of depression of a car, standing on the ground, from the top of a 

75 m high tower, is 30°. The distance of the car from the base of the tower 

(in m.) is: 

30/1/1 

(A) 25J3 

(B) 50J3 
(C) 75 J3 

(D) 150 

(A) 

(C) 

1 

2 

1 

6 

(B) 

(D) 

1 

3 

5 
6 

The probability of getting an even number, when a die is thrown once, is : 

(A) 

(C) 

1 

2 

1 

6 

(B) 

(D) 

5 

1 

3 

5 
6 

[P.T.O. 
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6. ~ ercm -q 9o ~ t m 1:R 1 ~ 9o (fq1 ti@r~ ~ ~11-ffu ~ ercm -q ~ 
~~~'1ji9'!1r ~ ~ RCflrcrft ~ ~, m ~ fu:Cfi1:R 23 ~ "Cfll1 ~ ~ ~ >mr 
mcfit srr~Cfiar ~ = 

7 
(A) 90 

(B) 

(C) 

10 

90 

4 

45 

9 
(D) 89 

A box contains 90 discs, numbered from I to 90. If one disc is drawn at 

random from the box, the probability that it bears a prime-number less than 

23, is : 

(A) 7 
(B) 10 - -

90 90 

(C) 4 
(D) 9 -

45 89 

7. ~ 3 -q, <fi~~ ABCq;-r ~ (crf~-q)~: 
y 

4 

B c 
X -2-1 0 1 2 3 4 5 

~3 

(A) 15 (B) 10 

(C) 7.5 (D) 2.5 

30/111 6 
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In Fig. 3, the area oftriansle ABC (in sq. units) is : 

y 

(A) 15 

(C) 7.5 

4 

--~B~~~~-+c~--~x 
-2-1 0 1 2 3 4 5 

Fig. 3 

(B) 10 

(D) 2.5 

8. ~~~if~ qftqlq crm ~ CflT ~ 37 iP:ft t m 7t = 22 ~ 'R, ¥ CflT 
7 

30/111 

qi{qlq (iP:ft~) t: 

(A) 154 

(B) 44 

(C) 14 

(D) 7 

If the difference between the circumference and the radius of a circle is 

3 7 em, then using n = 22 , the circumference (in em) of the circle is : 
7 

(A) 154 

(B) 44 

(C) 14 

(D) 7 

7 [P.T.O. 
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musGJ 

SECTIONB 

Question Numbers 9 to 14 cany two marks each. 

9. "HR~f!l{)Cfi{Uicnlx~~~~: 

4.J3x2+5x-2J3 =0 

Solve the following quadratic equation for x : 

4.J3 x2 + 5x -2.J3 = 0 

I 0. <fi;r ~ Cffffi ~ >TT~~n:i&ll ~ 7 ~ fci~ ~? 

How many three-digit natural numbers are divisible by 7? 

11. ~ 4 ~' "Bf~ ABC ~ ~ @:qr 11m Vf ~ 
~3it AB, BC Cf'4T AC q:;) ~: ~3it D, E om F lR 

~ Cfi\ill %I ~ AB = 12 "Bm, BC = 8 -Brfi om 

AC = 10 -@ft %, m AD, BE om CF cfiT ~<SII~lli ~ 

~I 

30/1/1 

In Fig. 4, a circle inscribed in triangle ABC touches 

its sides AB, BC and AC at points D, E 

and F respectively. If AB = 12 em, BC = 8 em and 

AC = 10 em, then find the 1engths of AD, BE and CF. 

8 

D 
~4 

D 
Fig. 4 
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Prove that the paral1elogram circumscribing a circle is a rhombus. 

13. ~ ~ ~ "B itit ~52 w cfiT Cfm cfiT ~ ~ -B ~ ~ ll l~:c<i§'QI RCfllfll 

Tfm I Sllf"llCflctl ~ cf>1NtQ\~ RCfllfll Tfm1fm~m <Stle:tiiC. i 3fu: ~ mWm~ I 

A card is drawn at random from a well shuffled pack of 52 playing cards. 

Find the probability that the drawn card is neither a king nor a queen. 

14. 14 ~ X7~fum;ffiqffi~ 3"ti'QC11Cfli\ Cfiltm~"B~~~' ~ 

~ (f?.ff -wrR ~ mB ~'d ICfll\ ~ CfiTG ~ rro; I iN~ CfiTt m "CflT ~ 

~ cf>1NtQ\ I [ n = 
22 cilNtQ\] 
7 

Two circular pieces of equal radii and maximum area, touching each other 

are cut out from a rectangular card board of dimensions 14 cmx7 em. Find 

the area of the remaining card board. [Use n = 
22 ] 

. 7 

"@'OS~ 

SECTIONC 

Question Numbers 15 to 24 carry three marks each. 

30/1/1 

For what value of k, are the roots of the quadratic equation kx (x-2) +6 = 0 

equal? 

9 [P.T.O. 
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-
16. ~ ~ 18, 15~, 13, ..... , - 49'li ~ tfG1 cf?t B-&n mo cfilf~ncom ~ ~ 

tfG1 CflT ~l J I lfl <:.1 mcf ch1 ~ Q; I 

Find the number of terms of the AP 18, 15~, 13, .. ... , -49~ and find the 

sum of all its terms. 

17. ~ ~~ cfiT ~ ch)~q: ~«cfi'l ~ 5 Wft, 4 Wft om 6 W:ft ~I m ~ ~ 
~ cf?t ~ cfil~ Q; ~Bcfil ~ ~ ~ cf?t ~ ~3TI cf?t :?_ "TfT -m I 

3 

Construct a triangle with sides 5 em, 4 em and 6 em. Then construct 

another triangle whose sides are :?_ times the corresponding· sides of first 
3 

triangle. 

18. GT~m~~<fil ~~ 151=fi~l ~W~~ftmn:~~"!R~W~~ 

fum CflT 3=fcHl01'1 cnTur 30° ~I ~ ~ ~ cf?t ~ 24m~' -ffi ~ ~ 'tf 
~moc€1~q:' [ .J3 =1.732 ~J 

The horizontal distance between two poles is 15 m. The angle of depression 

of the top of first pole as seen from the top of second pole is 30°. If the 

height of the second pole . is 24 m, find the height of the first 

pole.[Use.J3 =1.732] 

19. fu;& c€1~Q; ~ ~ (7, 10), (-2, 5) om (3,-4) ~ BAffi:~l§ fllOICf>lOI ~~ ~ 

-wi~l 

30/111 

Prove that the points (7, 10), (-2, 5) and (3,-4) are the vertices of an 

isosceles right triangle. 

10 
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301111 

20. 'ffl ~ mo ~ ~ y-01'11 ~ail H, -6) lf>1T (1 o, 12) <!it ~ <nB ~'"'~<iit~<!;«rr~~~-~~~,i<tottwo~l 
Find the ratio in which they-axis divides the line segment joining the points 

( -4, -6) and (1 0, 12). Also find the coordinates of the point of division. 

21. ~ 5 if, AB ll'l! CD~ 0 <nB ~ ~ <T'ffilrr ~ "'mr~ lf>1T OB ~ ~ 
<liT "'mr ~I <ffir OA ~ 7 illft ~. <if l9i<rif%o om <liT ~ WO ~I [n~22~] 

7 

In Fig.5, AB and CD are two diameters of a circle With centre 0 , which are 

P"'J>endicular to each other. OB is the diameter of the smaller circle. If 
OA ~ 7 em, find the area of the shaded region. [Use ." ~E J 

7 

Fig. 5 

11 
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22. ~ ~ ~ 3l~lnfftCflR Cfiift o/ ·3lt-"~tuftlct {sllei€'1 ~ ~ 3lTCfln: CfiT ~ ~ 

~ WfR %1 3l~l~MICflR cnift CfiT ~ 14 W:fi ~ Cf~ ~ ~ ctT ~ ~ · 

13 -m:fi~ I ~cnr~~ ~~ chlM~I [ n = 
22 

MlMQ)] 
. 7 

A vessel is in the form of a hemispherical bowl surmounted by a hollow 

cylinder of same diameter. The diameter of the hemispherical bowl is 

. 14 em and the total height of the vessel is 13 em. Find the total surface area 
22 

of the vessel. [Use 1t =- J 
7 

23. ~~~im~it~ffRo/B'3Bl~Cfil~ 3l~ ~sii~Cfl{ RCfltMd 

~' ~ f@(.1l'11 ~ 'Tm l ~ ~ ctt ~ 10 W:fi ~ 3lR 31fqr{ ctt ~ 
3. s irm ~, -m ~ R9 01 ~ ctt BCfliT CfiT 3lP-R'R ~ cfl f\11 Q) 1 [ 7t = 

22 ct1 R1 V>J 
0 7 

A wooden toy was made by scooping out a hemisphere of same radius from 

each end of a solid cylinder. If the height of the cylinder is 10 em, and its 

base is of radius 3.5 em, find the volume of wood in the toy.[Use 1t = 
22 J 
7 

24. 21 W:fi ~ cnB ~ ctf ~ -:qrq, ~ o/ 60° CfiT q;)ur ~ en@ ~I 

~ chl M Q) : (i) -:qrq ctr ~ (ii) T.'fl1l IDU ~ rm: 8\rtl <9 o;s cnr ~ I 

30/1/1 

[ n = 22 ctlRl~J 
7 

In a circle of radius 21 em, an arc subtends an angle of 60° at the centre. 

Find : (i) the length of the arc (ii) area of the sector fom1ed by the arc. 
22 [Use n =-] 
7 

12 
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~G 

SECTION D 

Question Numbers 25 to 34 carry four marks each . . 

1 1 1 
- + - +-

2a+b+2x 2a b 2x 

Solve the following for x : 

1 1 1 1 
---=-+-+-
2a+b+2x 2a b 2x 

26. GT CflTI ~ ~~lh(Vll COT c:frT 400 crrl iP:ft% I~~ .qf~:t414l COT 31m 16 Wft ~' ol 
®Cflilcm ~mo~1 

Sum of the areas of two squares is 400 cm2
. If the difference of their 

perimeters is 16 em, find the sides of the two squares. 

21. ~~~ M"~>rW1 7WCOTcirl 49~om~>rW1t711GTCOTcirl 289 

~' mw M"~>TW1 nwcnrcirl~~l 
If the sum of first 7 terms of an AP is 49 and that of first 17 terms is 289, 

find the sum of its first n terms. 

2s. m cfi'l~~ fcfi ~ ~ fcnm ~ 111: moo mr-~ -B ~ ~ ~ \1{ ~ ~ 

%1 

30/111 

Prove that the tangent at any point of a circle is perpendicular to the radius 

through the point of contact. 

13 [P.T.O. 
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29. • 6 -ij, l<rm m, ~ 0~-fcfim~tR~~~~t ~S01m: A 

<f?.ITB tRV'fem~"W~I~ CtR~~~oo, mr l em DtR<f?.ITOO 

m em E tR Slfd,.3G Cfi«ft ~I~~ fcti L DOE=90o ~I 

A 

~----~~~~------~m 
B E 
~6 

In Fig. 6, l and m are two parallel tangents to a circle with centre 0 , 

touching the circle at A and B respectively. Another tangent at C intersects 

the line l at D and m. at E. Prove that L DOE=90°. 

A 

~----~~~~-------+m 
B E 

Fig. 6 

30. ~ lft;m: <); ~-~ ~ ~ ~ <); fmsn: CfiT ~ Cfi)ur 3 0° t 3fR 'qCR <); ~­

~~lft;m: <ll ~CfiT "3Wflcnlur 60° ~~ ~ lft;m: 60 lft ~m, m ~~ 
~~ch)Nio;l 

30/111 

The angle of elevation of the top of a building from the foot of the tower is 

30° and the angle of elevation of the top of the tower from the foot of the 

building is 60°. If the tower is 60 m high, find the height of the building. 

14 
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31. ~~-q 12 ~~~-B 3 ~'Qefi ~' ~ 6 ~'Qefi ~4HGICom~ 

~ G~ICII'1 ~I ~-q-B~~ ~~~-c~~l ~llliTI ~~cxWffii\1~ 
~ cfiT Sllflicodl WIT-T%, at Sl lfl!co(11 ~ ch1NlQ\ fcn ~ 1TliT ~ (i) ~ 

~~I (ii) ~ G~ ICI H 3l?.rcn ~4 HGR ~I ~ (ff.:fi ~ -q "B fcm ~ CfiT 

31r1 31fccrcn ct ;(l ~ <11 ~ ~? 

A group consists of 12 persons, of which 3 are extremely patient, other 6 

~re extremely honest and rest. are extremely kind. A person from the group 

is selected at random. Assuming that each person is equally likely to be 

selected, find the probability of selecting a person who is (i) extremely 

patient (ii) extremely kind or honest. Which of the above values you prefer 

more. 

32. ~~~~ ABCDih<iR~ A(3,- 4), B(-1 , -3) Cl~ C(-6, 2)~1 Wrf 
Dih R~~lico~ ~~Q\Clm ABCDCfiT ~~ cf>l~Q\1 

The three vertices of a parallelogram ABCD are A(3, - 4), B( - 1, -3) and 

C( -6, 2). Find the coordinates of vertex D and find the area of ABCD. 

33. 2 W:ft 3"1 i <1 f\co ~ cm.9- ~ (1"'11 Cfi 1 Pn~ -B -q-r;fi o .4 1ft /"B cf;T ~ -B ~ ~ (1 '11 Cfi R Zen 
~~wr~ 1 ~Zcnih 3llm<:cfil~ 4o W:ft~, err~ ch1N1o:fcn 3llQeR:~~-q 
1:ff.:ft CfiT ~~~~I 

30/ 111 

Water is flowing through a cylindrical pipe, of internal diameter 2 em, into 

a cylindrical tank of base radius 40 em, at the rate of 0.4 rn!s. Determine the 

rise in level of water in the tank in half an hour. 

15 [P.T.O. 
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34. mg cfiT ~ "B ~ "31tR "B ~ ~ ~ ~ ~ fffircl; ~ 31fcliR cfiT %, ~Bcfil 

~ 24 iP:ft ~om~~ om~~ fuU ~ cxrm ~= 30 iP:ft o~ 
10 Wfi%1 ~~ .q ~ ~CFJT ~ ~ 10 ~ 100 crf Wfi cfil~-B mcf 

~l[n=3.14~ ] 

30/111 

A bucket open at the top, and made up of a metal sheet is in the form of a 

fmstum of a cone. The depth of the bucket is 24 em and the diameters of its . 
upper and lower circular ends are 30 em and 10 em respectively. Find the 

cost of metal sheet used in it at the rate of Rs 10 per 100 cm2
• [Use n=3 .14] 

16 
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